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ote 1 { Answer any FIVE full questmnsmms%%mg ONE full questugt ﬁ;ﬁn each module.
7 2. Use of Statistical Tables is perm: """"
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] 3, Module-1 Al

@ 1 a Define Subset , Null set and P et with an example fo%g@ch (06 Marks)

3 b. Find the number of posrtlveéﬁgers less than or equal to g076 and divisible by 3 or 4.

E & 7 A (06 Marks)
g2 B 3 A
g =§ c. Find the Eigen values@?@ Elgen vectors of %& 37 (08 Marks)
é =3 F & “
=% ) s
Foe Qﬁ“‘
§ S 2 a. Stateand preyw%socmtwe laws of Set ﬂ;eqry (06 Marks)
g & b. A survey. 0£500 viewers of a sports cha,lmel produced the following information :
5 g 285 waf%baseball , 195 Watci%huttle . 115 watch kabbadi , 45 watch baseball and
8% kabbadi., 70 watch baseball and-shuttle , 50 watch shuttle #nd kabbadi and 50 do not watch
LR any of 3 kinds of games. i) How-many viewers wa%“%ll 3 kinds of games? (06 Marks)
Tg 3 c. State Pigeonhole Pr1n01ple P.T if 5 colors are u%ﬁ% paint 26 doo,@g atleast 6 doors will
5T have the same color. .%M - o, 'S % (08 Marks)
e ~ 4 S/
[= =]
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E 8 3 a itions

]
£2 respectively. Fglé;% truth value of the. Gompound proposgc;:n pr(r—q). (06 Marks)
= g b. Define Tautoi@gyz “With an example-using truth table , prove that
R [(p—=>q(@—>D]=>@— r) iS:a tautology. P (08 Marks)
) 2 c. Test thgwahdlty of the statement “If Socrates 1swawman Socrates is mortal. Socrates is a
3 g man’ ﬁerefore Socrates isimortal. ) (06 Marks)
E b= %@f in% g & ’
E t% ¢ o ™ O %
% .ﬂg 4 5 ”,rove that Vx, p(x) v ¥ q{a()z’:> VX, p(x) \é xg, :q(x) (04 Marks)
§ “ED a, Define UmversaLQﬁmnﬁer and Ex1stegt1””1 Quantlﬁer with an example. (06 Marks)
& c. Give i) Direct p@of ii) Proof by contradiction of the statement, “Ifn is an even
g 2 integer , thcm]{ 7 is an odd mtgg“%fm‘ (10 Marks)
sz %ﬁ@ b
o< o P Module-3
= o 5 a. Define Cartesian product.ef sets with an example. If A is a set with m elements and B is a
2 set with n elements , ﬁpd he number of relations from A to B. (10 Marks)
*Za b. Define Equivalence relation.
g Let A = {1, 2, 7} and S = {(a, b) / a — b is divisible by 3}, verify that S is an equivalence
& relation. %%?W (10 Marks)
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For any 3 non empty sets A, B, C prove that 1) A x (B f%) (AxB)n(AxC).

i) Ax(B-C)=(AxB)=(AxC(C). . (10 Marks)
Define Partial Order relation R on A. Show that the ﬁm}usmn relation C is a partial order in
the power set of a set S. Determine whether t@ﬂaﬂon represented by the following zero
one matrix is a partial order

1 0 1
Mr=|1 1 0].
1 01

(10 Marks)

5 g.Module-4
The probability density func}@%x) of a variable X is glve%gyby the following table :
X 1 @gf 1|23 |]4]| & 6
Px)| K | 3K | 5K | 7K 9!%_1:11( 13K
For what value of K, does tfns represent a valid pmbaﬁihty distribution?
Find P(x < 4) Bgs 5’“’3) PB3<x<6). Determme the minimum value of K so that
P{x£2)203. , A (10 Marks)
The probablhtﬁgﬁ‘ﬁt a pen manufactured- by!;a company will be defective is 0.1. If 12 such

pens are sejee:g& find the probability thats. 1) exactly 2 will be defective
i) atl st:2.will be defective iy none will be defective. (10 Marks)

e ” W%W OR e 4
In a certain town, the duration ofa-shower is exponem;ﬁi’y distributed with mean equal to 5
minutes. What is the probablhty that a shower wﬂk%sﬁé%for Vo
i) less than 10 minutes -%iﬁw‘ﬂ) 10 minutes @t._%pore‘? CY (10 Marks)

The weekly wages of wo;ﬁlﬁérs in a company are normally dlstrlbu%d with mean of Rs 700

é s 750 i1) mox:&h&n Rs 750. (10 Marks)

p{&@m ule-5 )

Define Euler mp%ﬁi Hamilton path and Planar graph w1th an example for each. (06 Marks)

Detenn;ng*the shortest path usmg Dukstra S shortas”ffpna"fh algorithm. (14 Marks)

(04 Marks)
(04 Marks)
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